
EXERCISE 44-1 
 
Images of model and solution shown at top followed by four sets of problems, each on treble 
clef staff. 
 
Model shows treble clef staff with two blank measures. Labels beneath in C minor read: five-
seven, equals sign, blank for key area: German augmented sixth. 
 
Solution shows treble clef staff with three flats. First chord is G, B-natural, D, F. Second chord is 
G, B-natural, D-, E-sharp. Key label in blank is B. 
 
Set 1 

• Roman numerals beneath staff in D minor: five-seven, equals sign, blank for key area: 
German augmented sixth.  

• Roman numerals beneath staff in G major: German augmented sixth, equals sign, blank 
for key area, five-seven. 
 

Set 2 

• Roman numerals beneath staff in D-flat major: five-seven, equals sign, blank for key 
area: German augmented sixth.  

• Roman numerals beneath staff in C major: five-seven of five, equals sign, blank for key 
area: German augmented sixth. 

 
Set 3 

• Roman numerals beneath staff in D major: German augmented sixth, equals sign, blank 
for key area: five-seven of five.  

• Roman numerals beneath staff in B-flat minor: German augmented sixth, equals sign, 
blank for key area: five-seven of five. 

 
Set 4 

• Roman numerals beneath staff in A-flat major: five-seven, equals sign, blank for new key 
area, German augmented sixth 

• Roman numerals beneath staff in B minor: German augmented sixth, equals sign, blank 
for key area: five-seven. 

 


